

Summary of Bids Received

Project: Wadsworth & Kilbourne Micro-Surfacing

Section: 13-00999-43-SC

Description: This improvement will micro-surface Wadsworth Rd from the I-94 Bridge to the Des Plaines River Bridge and Kilbourne Rd from Wadsworth Rd to IL 173.

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Microsurfacing Contractors, LLC	11745 R. Lackland Rd.	St. Louis, MO 63146	Bid Bond	\$343,225.08	-24.10%	-\$109,008.22
AC Pavement Striping Company	695 Church Rd.	Elgin, IL 60123	Bid Bond	\$356,097.72	-21.26%	
Missouri Petroleum Products Compa	n 1620 Woodson Ra.	St. Louis, MO 63114	Bid Bond	\$497,097.04	9.92%	\$44,863.74
Engineer's Estimate				\$452,233.30		
Design	IDOT(2)	Contract Bidder	P	T then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	N	1gr Capital Prograr	nming	



Return Bid Tabulation

Project: Wadsworth & Kilbourne Micro-Surfacing

Section: 13-00999-43-SC

Description: This improvement will micro-surface Wadsworth Rd from the I-94 Bridge to the Des Plaines River Bridge and Kilbourne Rd from Wadsworth Rd to IL 173.

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		AC Pavement Striping Company		Microsurfacing Contractors, LLC		Missouri Petroleum Products Company, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	255.0	SQ FT	\$0.10	\$25.50	\$2.50	\$637.50	\$0.25	\$63.75	\$2.40	\$612.00
2	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	16,102.0	FOOT	\$0.10	\$1,610.20	\$0.19	\$3,059.38	\$0.30	\$4,830.60	\$0.30	\$4,830.60
3	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	36,038.0	FOOT	\$0.10	\$3,603.80	\$0.24	\$8,649.12	\$0.40	\$14,415.20	\$0.45	\$16,217.10
4	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,019.0	FOOT	\$0.10	\$101.90	\$0.32	\$326.08	\$1.00	\$1,019.00	\$0.60	\$611.40
5	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	820.0	FOOT	\$0.50	\$410.00	\$0.70	\$574.00	\$2.00	\$1,640.00	\$1.20	\$984.00
6	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	142.0	FOOT	\$1.00	\$142.00	\$2.00	\$284.00	\$2.00	\$284.00	\$2.40	\$340.80
7	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	15,435.0	FOOT	\$1.00	\$15,435.00	\$0.75	\$11,576.25	\$1.00	\$15,435.00	\$1.50	\$23,152.50
8	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	5,145.0	SQ FT	\$0.10	\$514.50	\$0.25	\$1,286.25	\$0.50	\$2,572.50	\$1.20	\$6,174.00
9	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	255.0	SQ FT	\$5.00	\$1,275.00	\$4.25	\$1,083.75	\$5.00	\$1,275.00	\$4.50	\$1,147.50
10	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	6,956.0	FOOT	\$0.60	\$4,173.60	\$0.51	\$3,547.56	\$0.70	\$4,869.20	\$0.70	\$4,869.20
11	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	2,010.0	FOOT	\$0.75	\$1,507.50	\$0.64	\$1,286.40	\$0.90	\$1,809.00	\$0.95	\$1,909.50
12	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,019.0	FOOT	\$1.00	\$1,019.00	\$0.77	\$784.63	\$1.15	\$1,171.85	\$1.10	\$1,120.90
13	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	820.0	FOOT	\$2.00	\$1,640.00	\$2.00	\$1,640.00	\$2.50	\$2,050.00	\$2.20	\$1,804.00
14	/8000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	142.0	FOOT	\$4.00	\$568.00	\$4.00	\$568.00	\$5.00	\$710.00	\$4.50	\$639.00
15	78001110	PAINT PAVEMENT MARKING - LINE 4"	9,267.0	FOOT	\$0.50	\$4,633.50	\$0.19	\$1,760.73	\$0.25	\$2,316.75	\$0.28	\$2,594.76
16	78001120	PAINT PAVEMENT MARKING - LINE 5"	31,453.0	FOOT	\$0.60	\$18,871.80	\$0.24	\$7,548.72	\$0.30	\$9,435.90	\$0.38	\$11,952.14
17	78300100	PAVEMENT MARKING REMOVAL	5,017.0	SQ FT	\$1.00	\$5,017.00	\$1.00	\$5,017.00	\$1.05	\$5,267.85	\$1.12	\$5,619.04
18	LC400205	MICRO-SURFACING, TWO PASSES	69,025.0	SQ YD	\$4.50	\$310,612.50	\$3.65	\$251,941.25	\$3.03	\$209,145.75	\$4.06	\$280,241.50
19	LR400300	BLOTTER AGGREGATE	25.0	TON	\$40.00	\$1,000.00	\$45.00	\$1,125.00	\$1.00	\$25.00	\$45.00	\$1,125.00
20	X0326219	BUMP REMOVAL	25.0	EACH	\$175.00	\$4,375.00	\$100.00	\$2,500.00	\$175.00	\$4,375.00	\$550.00	\$13,750.00
21	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$15,300.00	\$15,300.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$71,500.00	\$71,500.00



Return Bid Tabulation

Project: Wadsworth & Kilbourne Micro-Surfacing

Section: 13-00999-43-SC

Description: This improvement will micro-surface Wadsworth Rd from the I-94 Bridge to the Des Plaines River Bridge and Kilbourne Rd from Wadsworth Rd to IL 173.

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		AC Pavement Striping Company		Microsurfacing Contractors, LLC		Missouri Petroleum Products Company, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
22	Z0004005	FIBER ASPHALT	24,159.0	LB	\$2.50	\$60,397.50	\$1.90	\$45,902.10	\$1.47	\$35,513.73	\$1.90	\$45,902.10
Bid Total					\$452,233.30		\$356,097.72		\$343,225.08		\$497,097.04	



Return Bid Details

Project: Wadsworth & Kilbourne Micro-Surfacing

Section: 13-00999-43-SC

Description: This improvement will micro-surface Wadsworth Rd from the I-94 Bridge to the Des Plaines River Bridge and Kilbourne Rd from Wadsworth Rd to IL 173.

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	255.0	SQ FT	\$0.10	\$25.50	\$0.25	\$2.50	\$1.72
2	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	16,102.0	FOOT	\$0.10	\$1,610.20	\$0.19	\$0.30	\$0.26
3	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	36,038.0	FOOT	\$0.10	\$3,603.80	\$0.24	\$0.45	\$0.36
4	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,019.0	FOOT	\$0.10	\$101.90	\$0.32	\$1.00	\$0.64
5	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	820.0	FOOT	\$0.50	\$410.00	\$0.70	\$2.00	\$1.30
6	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	142.0	FOOT	\$1.00	\$142.00	\$2.00	\$2.40	\$2.13
7	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	15,435.0	FOOT	\$1.00	\$15,435.00	\$0.75	\$1.50	\$1.08
8	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	5,145.0	SQ FT	\$0.10	\$514.50	\$0.25	\$1.20	\$0.65
9	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	255.0	SQ FT	\$5.00	\$1,275.00	\$4.25	\$5.00	\$4.58
10	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	6,956.0	FOOT	\$0.60	\$4,173.60	\$0.51	\$0.70	\$0.64



Return Bid Details

Project: Wadsworth & Kilbourne Micro-Surfacing

Section: 13-00999-43-SC

Description: This improvement will micro-surface Wadsworth Rd from the I-94 Bridge to the Des Plaines River Bridge and Kilbourne Rd from Wadsworth Rd to IL 173.

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
11	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	2,010.0	FOOT	\$0.75	\$1,507.50	\$0.64	\$0.95	\$0.83
12	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,019.0	FOOT	\$1.00	\$1,019.00	\$0.77	\$1.15	\$1.01
13	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	820.0	FOOT	\$2.00	\$1,640.00	\$2.00	\$2.50	\$2.23
14	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	142.0	FOOT	\$4.00	\$568.00	\$4.00	\$5.00	\$4.50
15	78001110	PAINT PAVEMENT MARKING - LINE 4"	9,267.0	FOOT	\$0.50	\$4,633.50	\$0.19	\$0.28	\$0.24
16	78001120	PAINT PAVEMENT MARKING - LINE 5"	31,453.0	FOOT	\$0.60	\$18,871.80	\$0.24	\$0.38	\$0.31
17	78300100	PAVEMENT MARKING REMOVAL	5,017.0	SQ FT	\$1.00	\$5,017.00	\$1.00	\$1.12	\$1.06
18	LC400205	MICRO-SURFACING, TWO PASSES	69,025.0	SQ YD	\$4.50	\$310,612.50	\$3.03	\$4.06	\$3.58
19	LR400300	BLOTTER AGGREGATE	25.0	TON	\$40.00	\$1,000.00	\$1.00	\$45.00	\$30.33
20	X0326219	BUMP REMOVAL	25.0	EACH	\$175.00	\$4,375.00	\$100.00	\$550.00	\$275.00
21	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$15,300.00	\$15,300.00	\$5,000.00	\$71,500.00	\$33,833.33
22	Z0004005	FIBER ASPHALT	24,159.0	LB	\$2.50	\$60,397.50	\$1.47	\$1.90	\$1.76
		Bid Total			\$452,233.30				